Sk

g
Tl
>

1. ¥¥4
¥4 TN 6 A FEARBAN K R B & OV B BRA 35S
JBA T R IR T

2. EBEAR
1) FEF4 B EREFHHT JlsiG /KR
365 H H &f1 64 4H 1H

2) JE1THIR
£ o T 3H3LH

3) &FEtHM
AT, ABIAGRIET DK, BKREBIN 2 5 L, AR SE<e

MERFE PR DL & 70 2K SCEBIOIRIER 21T 5 L & bIT, AKSCBIIFTORST
FRREEZATV, KB OB ED PR e T2 K5 H DO Th 5,

4) FEHBNA
BE TEERRILR) D LBY

E+sZi@E SN



%lljll
I

EHAL | BN 6 FEARI)ACR I RBLH R O RS IR 2 ¥ HEER
HH AR S
THHE - THE - R BT & 4 AR ER
IR = 21, 944, 627
s i & AT, 720
A 2V 474,720 | (R
1 X
BiHhF A X 1,516, 700
B 2 1,516,700 | HHhFHE
1 X
IR TR PRST A X 1, 526, 290
IR SRR ST AR 2V 1,526,290 | ARG
1 X
TEHRST AR
4 )1 ==X
TEHMRST AR
7 1 ==X
A TR RIR
(1 )1 (=)0
i AL = 12, 433, 763
BB = 12,433,763 | {ER/KHREAELH]
(30 )1 (=)0
R 2B
6 )1 (Ep=
R 2B
1 =
K R
1 =
K R
1 =

N

E+sZi@E SN



==
=]

m
2
%

EHAL | BN 6 FEARI)ACR I RBLH R O RS IR 2 ¥ =
HH IR SR
THHE - THE - R BT B & 4 H OB RR
KL
1 =
I ERREEHAIE: Bk TE O
10 %N
SEHJAIENR 72, T1m
IRAL T HB AR ERR 2V 1 959, 300
RO ARV ERK 2V 1 959, 300 | FELEEERIOULE - MR
3 ‘LT
IRAEFE B IR D VERR
3 BT
HEHE ROV
3 BT
H-/ Q * H-A - H-V - B X D VERL
3 BT
RO BRI DT — & N — 2 Bk
1 6]
KSTERHEER X 1 2,785, 636
KT e R = 1 2,785,636 | HitMkT — & HiAHY
1 =
H FCAR O SRR AT
1 =
BRI DWISEFZE
1 =
BLHEORIE
1 =
FEER A
1 =
WAt RO B
1 =
IKIOKE T — F = Ak

-2 - E+sZi@E SN



PR NER =

ull
P

¥4 | AN 6 AR ACRTT R L OV RIS S ¥ =
H H IR SR
THH - THE - FER BT ¥ & 4 H OB RR
1 [=]
IRICE R = 1 851, 504
IR SCE PR 2V 1 851,504 | HFLMET — & iy
1 X
H RO O IR AT
1 X
BLAME OWISEFZE
1 X
FEAER A
1 X
TEEHE RO IERL
1 X
IR T — 2 — R
1 [=]
WEEER X 1 1,396, 714
A EERL 2y 1 1,396, 714 | HEEIER
1 X
LA = 1 412, 700
RISt = 1 412, 700
A4 = 1 412,700 | TAE
1 =
[EXE5 S = 1 5,974, 128
RSt v 1 5,974, 128
TR e v 1 5,974,128 | fifEasimey
1 =
LR Y 1 28, 331, 455

-3 - E+sZi@E SN



I

BN

ull
P

¥4 | D06 AR ACRTT B L V& FHEELS S E W=
H H BN R
THH - T - fER] A7 ¥ = & % OB ORR
R e = 1 16, 768, 545
3% o =X 1 16, 768, 545
T ESES MR 2y 1 45, 100, 000
-4 - E+2mE SN )R



